B o &miE

BEHZE->TORDIILBHOBERERDILLD.

D £+ 27m OAO&EIE
27 X 27 =729
3.14 X729 2% %

3.1 4
X 7.2.9

@A

@ (&9 26m OO @A
26 X 26 = 676
3.14 X 676 £ ;5%

3.1 4
X 6.7 6

mia

B *425° 5cm OHO @
5X5=25
3.14X25 %% %

3.1 4
X 2 5

@A

@ ¥7H 1 2cm RO &EE
12X 12= 144
3.14X 144 %25

3.1 4
X | 4 4

Eia

® F125°28cm OHDEFE
28 X 28 =784
3.14 X784 5# 7 %

3.1 4
X 7. 8 4

mia

® F#&H 18cm OHN &
I8 X |8 =324
3.14 X324 %7 %

3.1 4
X 3 2 4

‘iR

/9

@ $£424% 13m OEO&EIE
13X 13=169
3.14 X 169 2£1%

3.1 4
X | 6.9

Eia

*ZH 16m OO EIE
16 X 16 =256
3.14 X 256 %1%

3.1 4
X 2 5.6

iR

@ (292 Im OHDEE
21 X 21 = 44|
3.14 X 44 2£71%

3.1 4
X 4 4|

mia




B o &miE

BEHZE->TORDIILBHOBERERDILLD.

D £+ 27m OAO&EIE
27 X 27 =729
3.14 X729 2% %

oNfQ &

N
2
2
8

| Q o N X
QIO N X|I w

2 |
2 2 .06

@mia| 2289.06m?

@ E£EH26m OHRO@IE
26 X 26 = 676
3.14 X 676 £ ;5%

Mo s

N
7
8
8

NIH Q |0y W

X
I
2 1
| 8 8
2. 1.2 2,6 4

miE| 2122.64m?

B *425° 5cm OHO @
5X5=25
3.14X25 %% %

3.1 4
X 2 5
| 570
6 2 8
7 8.5 0@

mia 78.5cm?

@ #2251 2cm OEDEE
12X 12= 144
3.14 X 144 2% 3 2

()N &) I I N
ols &

NI LN — W

X
I
|2
3 1
4 5 2,1 6

miE| 452.16cm?

® £Z5% 28cm OHDOE@IE
28 X 28 =784
3.14 X784 5# 7 %

3.1 4
X 7 8 4
| 2 5 6
2.5 1 2
2. 1.9 8
2 4 6 1,7 6

@mia | 2461.76cm?

® %5 18cm AN EE
18 X 18 =324
3.14 X 324 %3 %

N N —
Y EES

- 00— X
S (NN DN W W

.36

miE| 1017.36cm?2

/9

@ $£424% 13m OEO&EIE
13X 13=169
3.14 X 169 2£1%

&~ Ny —
oNlQ &

a|lw: —

Wl— 0 N| X
OlH 0 | — W
.o\ .
o

ki 530.66m?

*ZH 16m OO EIE
16 X 16 =256
3.14 X 256 %1%

Mo s

.
5
8
0]

W I 0N W

x| O —
o|IN O — | X

.8 4

EiR 803.84m?

@ (292 Im OHDEE
21 X 21 = 44|
3.14 X 44 2£71%

3.1 4
X 4 4 |
31 4
| 2 5 6
| 2 5 6
I '3 8 4,7 4

@mia | 1384.74m?




